


4.1

50m

200m

5m

5m

17

16

5m

200m

4-1



)

[ .J_—ll
h_._...... 3
ST

WS

L
o
>

i

4-2



4-3



4.2

4.2 1 30
1,878 m3 9.4%
16
1,000 m¥/ 51
27 1,110 m3/
“ CTITT e
5,500 = l]
5,000 R
[ (
4,500 ——
N
4000 F e
N
3,500
3000 f 1
e
~ 2,500
2000 | / o
1,500 j. .
1,000 /\ /wr-_
f’\&MV
500 = |
=
/o——o\x,o—)_“,.//;.: [l
0 - 1 H—./H |_| i || ﬂ: I||_||I 1 ||_|l" I_III_! O
Nl Uu T |_| |_|
_500 AN M IO OMNO0ODNDO AN MAN N WOOOMNOODD OANM O (O M~ 00
DO WO O OCOOWTIT T ITITIIIIIIdAdddddddd
DO, mnmomonony o I T TTITITXITITXIT
-1,000
4.2 1

4-4

15

200

400

600

800

1,000

(m/s)



4.2 1

) 223.7 (% D) 100 ()

( m 119,165 ( m) () 20,000 ( m®)

( m 95,000 ( m®) m/ 1,307 7 P

3 3 ( ) m3

Co) [C™] e my] O ¢m
51 11 0 119,165 0 0 o| 0.00%| 0.00%
52 11 1 119,260 -95| -112 17| -0.08%| -0.48%
53 11 2 119,087 78 0.07%| 0.39%
54 11 3 119,212 -471 -328]  281| -0.04%| -0.24%
55 11 4 118,995 170] -112 282 0.14%| 0.85%
56 11 5 119,020 145 -61 206 0.12%| 0.73%
57 11 6 119,039 126| -143] 269 0.11%| 0.63%
58 11 7 118,960 205 -85] 290 0.17%| 1.03%
59 11 8 118,945 220 -106] 326] 0.18% 1.10%
60 11 9 118,778 387 -31] 418 0.32u 1.94%
61 11 10 118,761 404 -43|  447] 0.34%| 2.02%
62 11 11 118,738 427 -7\ 434] o0.36% 2.14%
63 11 12 118,678 487 20|  467| 0.41% 2.44%
1 11 13 118,599 566 59 507| 0.47%| 2.83%
2 11 14 118,245 920 232 688 0.77%| 4.60%
3 11 15 118,461 704 107 597| 0.59%| 3.52%
4 11 16 118,543 622 35| 587 0.52u 3.11%
5 11 17 118,367 798 106] 692 0.67%| 3.99%
6 11 18 118,570 595 -60] 655 0.50%| 2.98%
7 11 19 118,464 701 24| 677 0.59%| 3.51%
8 11 20 118,537 628 -72 700| 0.53%| 3.14%
9 11 21 118,532 633 -36] 669 0.53u| 3.17%
10 11 22 118,283 882 19 863 0.74%| 4.41%
11 11 23 118,241 924 19 905 0.78%| 4.62%
12 11 24 118,463 702 30 672 0.59%| 3.51%
13 11 25 118,362 803 -84 887 0.67%| 4.02%
14 11 26 118,125 | 1,040 62 978 0.87%| 5.20%
15 11 27 118,088 | 1,077 91 986 0.90%| 5.39%
16 11 28 117,010 | 2,155 614| 1541 1.81%| 10.78%

17 29
18 11 30 117,287 | 1,878  463| 1415 1.58%| 9.39%
> 100%
> 100%
4
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18 30 1,878 md
20,000 m® 9
463 m? 95,000 m? 0.5
9.4
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4.5 1
No.
4 1 16
4 2 51
18






